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Day 5 Fluency 10

10 questions in 10 minutes...are you up for the
challenge?

Going through the answers and discussing them is even more important than
them completing the task...

1)28-11=

2)35+14 =
3)42-15=

4)27 -9 =

5) 3 + 28 = (uild your bridge!)
6) 11 more than 14 = ?

7) Use the inequality signs to complete this number
sentence 16+4 5o oo 28-6=

8) Double 14 = ?
9) Half of 18 = ?
10) 10 x 11 =

When we solve word problems we must
highlight the key information from the
question...

TODAY'S

LEARNING

Sam had £42. He spent £18 of it a new game. How much money does
Sam have left?

£42 - £18 =£24
Tens Ones
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Tens Ones

Now, | have enough so | can
subtract 8 ones and then my 1 ten
because | am subtracting 18. How
many do | have left?

| need to subtract 8 ones first but |
don't have enough in my ones
column.. | must BORROW!
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Frog Challenge 5
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Can you solve these word problems using your subtraction skills?

1) First, James had 46 sweets. He ate 8 of the sweets. How many did
he have left?

2) A piece of ribbon was 34cm long. Amy cut off 15cm. How long was
the ribbon now?

3) Spot the dog weighed 31kg. He went on a diet and lost 17kg. What is
Spot's new weight?
4) Bilal the baker baked 73 buns. He gave 12 to Class 3 and 13 to
Class 4. How many buns did he have left?

5) A bike was for sale for £85. The shop keeper reduced the price by
£37. What is the new price?

Challenge - can you create your own word problems? Create one
that doesn't need borrowing and one that does.
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